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A bug walks along the edge of a table for 75 cm then turns around and walks back down the same path for 35 cm. What is the displacement of the bug from where it started? 
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The diagram above shows a box and the direction of a force applied to the box. Which of the following vectors shows the direction of the reaction force?
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Which graph represents the data found in the table above?
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44 A wet bar of soap slides 1 meter across a wet
tile floor without appearing to slow down.
Which of these statements explains why the
bar of soap fails to slow down?

F

G

A constant force on an object produces a
constant positive acceleration.

An object in motion tends to remain in
motion in the absence of an external force.

A moving object having constant velocity
contains kinetic energy.

An object’s weight is proportional to its
mass.
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22 A woman lifts a 57-newton weight a distance
of 40 centimeters each time she does a
particular exercise. It takes her 0.60 second
to lift the weight. How much power does she
supply for lifting the weight one time?

F 24W
G 34W
H 38W
J 95W
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26 The 500 g cart is moving in a straight line at a
constant speed of 2 m/s. Which of the following
must the 250 g toy car have in order to
maintain the same momentum as the cart?

F

G
H
J

An acceleration of 5 m/s” for 2 seconds
A potential energy of 20 J

A constant velocity of 4 m/s

An applied force of 5 N for 5 seconds
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45 In West Texas and Southern California, high
winds drive turbines that generate electricity.
One advantage that wind energy has over
energy generated from solar cells is that wind
energy —

A s plentiful everywhere

B can be generated at night
C produces cleaner energy
D

is free of environmental hazards
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36 Which of these produces most of the
compounds responsible for causing acid
rain?

F

G
H
J

Nuclear fission
Fossil fuels
Solar cells

Windmills
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14 Which process best shows the conversion of
solar energy to chemical energy?

F  Prevailing winds causing windmills to
spin

G Green plants making their own food

H Uranium producing heat to make steam

J  Tides generating electricity
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38  Which graph can represent an object at rest?
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51 A cyclist moves at a constant speed of 5 nv/s. If
the cyclist does not accelerate during the next
20 seconds, he will travel —
A Om

B 4m

C 50m

D 100m
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21 Amechanic used a hydraulic lift to raise a
12,054 N car 1.89 m above the floor of a
garage. It took 4.75 s to raise the car. What
was the power output of the lift?

A 489 W

B 1815 W
C 4796 W
D

30,294 W
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43 Starting from rest at the center of a skating rink, two skaters push off from each other over a time
period of 1.2 5. What is the force of the push by the smaller skater?
A 16N
B 32N
C 88N
D 100N
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41 According to this graph, what was the bicycle’s
acceleration between 6 and 10 seconds?

A

B
C
D

0.0 m/s*?
0.65 m/s?
1.6 m/s?
6.5 m/s?
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41 A 0.500 kg ball with a speed of 4.0 nv/s strikes
a stationary 1.0 kg target. If momentum is
conserved, what is the total momentum of the
ball and target after the collision?

A

B
C
D

0.0 kgm/s
0.5 kgm/s
1.0 kgm/s
2.0 kgm/s




